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A0AERE
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AOGBXE
S06BXC
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GOGCAC
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HIGHLY ERODIELE LAND CLASSES -

- HIGHLY ERODIELE AND
1 = HIGHLY ERODIELE LAND POTENTIALLY HIGHLY ERCODIELE
Z = FOTENTIALLY HIGHLY ERODIELE LLAND CACULATOR VER 1.1
2 o= NOT HIGHLY ERODIBLE | WIND EROSIION | WATER EROSION
C 1 HEL R K T SLOFE~- FERCEN SLOFE-~-LENGTH LS~ VALUE

SOIL NAME ¥ VALUE VALUE CLASS VALUE VALUE VALUE MINM. MAM¥. MIN. MAMN . MIN. MAM .
KRR RRBERNRENNRRN H HRE FNNRN HHHHRN HREHNE RRFRRN XXRFHHE HERERE HERERE RRHRH HHRRRR EX T T LD T LT AT L L
ALERIGHTS 1 100 0.8 150 ] ] = 100 400 028 .98
ALERIGHTS 1 100 0.2 150 3 = 15 100 400 E.11%
ALLEGHENY 1 100 0.8 150 4 0 k] 100 400
ALLEGHENY 1 100 0.8 180 4 ] =] 100 400
ANDOVER 1 100 (W 2] 150 = O ] 100 400
ANDOIVER 1 100 Q. 150 3 k] o 100 400
ATHI. 1 100 0.2 150 4 e ] 100 400
ATHOL 1 100 0.2 150 4 2 15 100 400
ATHOL 1 100 0.8 150 4 15 25 100 400
ATEINS 1 100 0.8 150 4 o] 3 100 400 0,435
EBAREOIUR 1 100 *o.s 1580 5 0 K] 100 400 0. 425
EBASHER 1 100 0.8 150 L] 0 e 100 400 Q& 0,435
EEDINGTON 1 100 0.8 150 4 e = 100 400 0,257 1,99
BEDINGTON 1 100 0.8 150 4 2 15 100 400 0,291 5.11%
BEDINGTON 1 100 Q0.2 150 4 1% 25 100 400 Z2.895%
RERES 1 100 0.8 160 3 3 a2 100 &a
BERKS 1 100 0.2 150 3 = 15 100 UL
EERKS i 100 [ 150 2 15 5 100 BE2  11.720
BERKS 1 100 Q.= 150 3 e =] 100 400 0.287 1,982
BERKS 1 100 Q.2 150 0,17 ] 15 bt 100 400 .89 11,7820
EIRDSEDIRO 1 100 0.8 150 4 0 2 100 400 0,049 0. 425
BLAIRTON 1 100 0.8 150 3 2 3 100 400 0,287 1,98
ERINKERTON 1 100 0.8 150 2 o} ] 100 400 O, 049 0. 43268
BRINEERTON 1 100 0.8 150 2 k] = 100 400 O 1,988
BUCHANAN 1 100 0.8 180 3 ] = 100 400 1,988
EUCHANAN i 100 Q.8 150 ] k=] 15 100 400 B.11%
BUCHANAN 1 100 Q.2 150 = = 2 100 400 1,288
BUCHANAN 1 100 0.2 150 = K 16 100 400 B.11%
CALVIN 1 100 0.8 150 2 2 2 100 400 1,982
CALVIN 1 100 0,2 150 e 3 15 100 4Q0 6.11%
CALVIN 1 100 Q.8 150 o] 15 bt 100 400 11.780
CALVIN 1 &0 o= 160 0.2 2 3 k= 100 400 &
EERKS Z 38 0.2 150 0.17 3 = = 100 400
CALVIN 1 BO 0.8 150 0.2 ] o 15 100 400
BERKES Z 28 0.8 150 0.7 e = 15 100 400
CALVIN 1 8O 0.2 150 0.2 3 15 25 100 400 11,720
EERES 2 38 0.8 150 0.17 3 15 ] 100 400 11,7380
CATOCTIN 1 100 0.8 18O 0.17 = a 15 100 400 B.11%
CHAVIES 1 100 0.8 150 .24 4 (o] 3 100 400 0,435
CLYMER 1 100 0.8 150 0.17 3 3 2 100 400 1.982
CLYMER 1 100 0.8 150 Q.17 2 = fra] 100 400 11.780
DUFFIELD 1 100 [ ] 1580 0.32 4 4] = 100 400 0.06% Q. 4=8
DUFFIELD 1 100 0.2 150 0,32 4 ] = 100 400 O.297 . 1.%
DUFFIELD 1 1060 (I 150 4 a 15 100 400 O 271 L W
DUNCANNCIN 1 100 0.3 150 4 0 2 100 400 0,049 0.42E
DUNCANNIN 1 100 0.2 150 4 3 = 100 400 0.28
EDOM 1 100 0.8 150 3 2 = 100 400 Q.287
EDOM 1 100 Q.0 150 A ] 15 100 400 0.991 S.119
EDOm 1 100 0.8 150 e 15 28 100 400 2.985% 11,720
EDOM 1 100 0.2 150 3 =5 il 100 400 G.290 20,444
ELLIBER 1 100 0.2 150 3 k] b= 100 400 0.287 1,982
ELLIEER 1 100 .8 k] ] 15 100 400 0.%91 g5.117
ELLIEBER 1 100 0.8 ) 15 =5 100 400 Z.EEY 11,730
ELLIBER 1 100 0.8 3 3 = 100 400 QLERT 1,288
ELLIBER 1 100 0.8 = 18 8 100 400 Z.585% 11.780
ELLIRER 1 100 0.8 3 25 85O 100 40010,252 35,4844
ERNEST 1 100 0.2 e 3 ] 100 400 O.ER7 1L wRE
ERNEST 1 100 0.8 3 = 15 100 400 0,971 B.11%

2T /Rk
L 2. X 23
. .500
OLEO0
0. aaT
Q. AT
Q. EaT
O.7a]
QL.TEE
0.7
Q0.7

QuiaeT

Q.76
Q.TAE
Q0.741
0.741
0.741
O.941
O.741
0.85877
Q.27E
0,500
0,500
Q. BET
QueaT
Q. 56T
O AT
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0. 8200
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Q..2Q0
0.241
0300
0,941
Q.200
O.741
QL BE
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0,741
0.741
Q. EAT
O.66T
QO taiEaT
0877
Q.BTT
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0.941
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Q.741
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[ (SRS L g g | LI AR wt o f il A0 O, 1
EVA EVENDAL.E 1100 ] 3 [s] 3 400 0,06 =

EVE EVENDALE 1 100 0.8 3 2 =] 400 0.5 b

GNI3 GLENVILLE 1 [ = e = 400 O, =

GOR GLENVILILE 1 [ ] ] =] 400 O, &

HAA HAGERS TN 1 (] 4 0 e 400 O, Ot e

HAR HAGERSTIWN 1 0. 4 = ] 400 7 £

HAC HAGERSTOWN 1 (] 4 = ) 400 w1 1

HAD HAGERSTDRN 1 0.5 4 15 28 400 w 1

HCE HAGERSTOWN 1 0.8 4 ] = 400 7 =

HCC HAGERSTDWN 1 0.8 4 = 15 400 1 1

HCD HAGERS TN 1 0.2 4 15 =5 400 4 1

HDE HAGERSTOMWN 1 0,8 4 ] =] 400 OuesT =

HDE ROCE DUTCROF Z 0.2 4O0ERROR ERRIZR ERROR ERRID

HDD HAGERS TN 1 0.3 [l 4 15 o] 400 Z.EER 11730 Q.67 1

A0sHDD HDD ROCE QUTCROF = Q.= 400ERROIR ERROR ERROR ERRC
&0AHDF HDF HAGERSTOWN 1 Q. 032 4 1] &0 A40010.ZZ8 44201 Q.&6T 1
A0EHDE HDF ROCKE QUTCROF = 0.8 4O0ERRIR ERROR ERRIIR ERRD
&HOGHER HEE HAZLETON 1 y 0uE ] 3 = 400 0,28 1.9282 0.%41 £
A0EAHEC HEC HAZLETON 1 0.5 3 = 15 400 0,291 S.11% 0,941 1
A0EHED HED HAZLETON 1 0.8 3 15 bt 400 Z.58% 11,720 1
SOGHFE HFE HAZLETON 1 O 3 i & 400 0287 1982 z
AOAHFD HFD HAZLETON 1 0.5 3 15 28 400 2.885% 11,780 1
AQEHFE HFF HAZLETUON 1 0.8 3 =8 A0 400 5.8%0 44,201 1
AOAHGE HGE HIGHFIELD i 0.5 A ] = 400 O.Z87 RS e
AOGHGC HGC HIGHFIELD 1 0.8 k] ] 15 400 0,971 1
s HHE HIGHFIELD 1 Q.3 ] = = 100 400 O.287 =

“HHD HHD HIGHFIELD 1 0.8 e 1% =5 100 400 2,559 1
AO0AHHF HIGHFIELD 1 0.8 ] =5 50 100 400 5,890 1
AQEHU HUNTINGTON 1 0.3 0,23 i Q 5 100 400 0,04% 1.070 Z
AOAKNE KLINESVILLE 1 0.5 0.2 2 ] = 100 400 0.E8 1,922 =
NG KLINESVILLE 1 0.3 0. e = 15 100 400 0,991 .11 1
AOEEND . ELINESVILLE 1 0.8 0.2 = 16 il 100 400 = 11,780 1
AQAKRA ERA EREAMER 1 0.3 0.24 3 W] e 100 400 O Q. 435 =
AOAKRE KRE KLREAMER 1 0.8 3 k] = 100 400 C b
GOEKRC KRC KREAMER 1 0. 2 2 15 100 400 O 1
&06L.DB LDE LAIDIG 1 0.2 4 2 = 100 400 1,922 Z
&06LDC LDC LAIDIG 1 0.5 4 = 18 100 400 O G.11% 1
&HOBLGR LGE LAIDIG 1 0.2 4 c] k] 100 400 1.982 Z
A06L.GD L.GD LAIDIG 1 0.8 0.22 4 15 25 100 400 2 11,720 1
AQALPER LPE LEHEW 1 0.8 Q.17 3 = k] 100 400 1,982 Z
AOALFD LPD LEHEW 1 0.8 0.17 = 15 25 100 400 = 11.720 1
AQELLS LS LINDSIDE 1 0,8 0.3 & o] ] 100 400 O 35 3
AOEMCR MCE MECHESVILLE i 0.2 0,32 4 3 = 100 400 0O =
&HOAMDE MDE MECKESVILLE 1 0.8 0.24 4 ] = 100 400 ¢ =
&A0EMDD MDD MECKESVILLE 1 0.3 0.z24 4 15 25 100 400 Z 11.720 1
&HQEME ME MELVIN i = 0.42 5 [u] = 100 400 O 0,204 e
AOAMF MF MIDDLERBURY 1 k5] Q.83 ] (8] 3 100 400 0 0,435 =
A0AMNA MNA MONONGAHEL A i = 0.43 ] ] e 100 400 O 0,455 Z
GOAMNR MNIz MONONGAHEL A 1 Q.8 0.43 ] k] = 100 400 0 1,982 =
&OAMNC MNC MONONGAHEL A 1 0.8 0.42 ] 3 15 100 400 O H.l1w i
i GHOGMOR ML MORRISIN 1 0.8 0.2 2 = a 100 400 O 1.932 =
SOAMOC maC MIRRISON 1 0.3 0.& ] = 1% 100 400 O B.11%9 1
A0EAMOD MDD MORRISON 1 0.3 Q. 2 15 Z5 100 400 & 11.720 1
EQEMUA MUA MURRILL 1 100 k] 0.8 4 [s] 3 100 400 : K]
AOAMUE - MUR MURRILL 1 100 = 0. 4 ] b 100 400 =
&06MUC MucC MURRKRTLL 1 100 B 4 = 15 100 400 i
{ AOANER NE NESHAMINY 1 100 ] 4 ] 100 400 b
AQENEC NEC NESHAMINY 1 100 = 4 = 15 100 400 i
AQOANHE NHE NESHAMINY 1 100 2 4 = ] 100 400 2
A0ANHD NHD NESHAMINY 1 100 0.2 4 15 =8 100 400 11.720 1
AOAFEA FEA FENLAW 1 100 0.2 = O K] 100 400 0,067 0,425 = b
AOEFT FT FITS AND QUARRIES 1 100 0.2 100 400ERROR ERROR ERR®
a06PY FU FURDY 1 100 0.2 Q.43 £ (8] 3 100 400 0,067 O, 435 0,372 Z
HOARAA RAA RARITAN 1 0.8 0.37 2 (o] e 100 400 0.0&% 0,438 0,432 =
A0ATGE TG TIDGA 1 0.8 0.37 5 ] e 100 400 0O, 0&% 0.43% 0.721 e
AOETY TY TYLER 1 0.8 5T O.43 = " - 100 400 Q0.0 G4 (o] =
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